11.2 Arithmetic Sequences (work).notebook May 15, 2024

11.2 ARITHMETIC SEQUENCES

In an arithmetic sequence, the difference between
consecutive terms in constant. The constant difference is
called the common difference and is denoted by d.

Examples: Decide whether each sequence is
arithmetic. If so, identify the common difference.

I -7,-3,1,59..arikhmebic , d=1
2. 2,3,5812,17,..not drithmet;s
3. -14,-8,-2,0,2, 8, 14,.. ot arithimabic

4. 19,13,7,1, -5,..<7urie}qme+s'c) A= -G

5. List the first four terms of each arithmetic

sequence.

a) = -3 + (n-"N(5) b) t =1n+4
Jc --—’5+LL—4)(6) +,=TC-l +Y
=3 ' +,= 1o+ 4
L = -3 +@&=)(5) +=T"2+Y4
.L?;_z-; 2_ +L= 2TC+L’
L - 3+@ENE)  Ap=TT34
1= WIS =TH

-hq = IQ.. tq-:_ "‘WE -}’L{
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The nth term of an arithmetic sequence with first
term t, and common difference d is given by:
t —t + (n - Nd

.s-) +erim
6. Write an exphot%ormula for the nth term of

the arithmetic sequence 50, 44, 38, 32,.d==0(
t,=50+ (n=DEe)
-E"h-:: >0 —en+ 6

E:": 56— bn

/. Write an explicit formula for the nth term of
the arithmetic sequence shown below. Then

find thrm

32,47, 62 77,.. a=15
_(: = t, -\-Ch ?7 d
= 32+(n--l) |5
= 32+ i5n-15

[‘Ln |7 +15n =17 +15[20)
t2°=?>\?j




11.2 Arithmetic Sequences (work).notebook May 15, 2024

8. Find the 40th term of the sequence defined
by t, = 7and t, = t, ;(+ 6,<recursive

L=+, + 6 formula,
\

L, =F +6 G

1= 13

9. Find the 101st term of the sequence defined
by t,=-4andt, =t, - d=-2

L=t + (n=N
o = -4 + (o= N (-2)
-L'lo)= -—L)+~4—ZOO
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10. Find the 10th term of the arithmetic sequence
in which t; = -5 and t, = 16.

£, *-L+(n N d
[\-(: ¥y (n—ky 4

yo=t,+ (G -2) d
R
.-—50’ _{.:'o-_{, -\-\m ’5)7
-‘7'=0? “54'41
& — _ful

11. Find the 15th term of the arithmetic sequence
in which t. = 7 and t, = 22.
L=, + (n—K) 4
-\;W"‘\: + (10-9) 4

2’2_ 7 + 54
= 54 {1—-&4—(\59-3
5-‘-‘0‘ 4= F+3%0

"'l'_,l 2= 2F
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The terms between any two nonconsecutive
terms of an arithmetic sequence are called the
arithmetic means.

12. Find the four arithmetic means between
10 and -30. lo 2 -6 4 =27 .z

|O+ 54 =—23D
54 = =40
d=—%

13. Find the five arithmetic means between
6 and 60. |
G )5 24 2Z» 4Y2 S| 6O

G+Gd =GO
6d = 54
d=9
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